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N(j)-kAw



@aa-jb-Ra



JaH-msj



anx-kA-n-Ra







@wt-Bjt
@wt-Bjt

Pr-@bjt NTrt

wr nTr
wr m NTrt

Wsjr anDtjj xnt @bjt bjk NTrj, m rn=f n 
nb Ntrj, m xnt NTrj, nb Ntrj, nb @bjt, Hrj-jb NTrj, xnt @bjt, and saHa nTrw m xnt Ntrj



wsxt

 [jmAxw x]r nTr nfr nb-tAwj

 jmAxw 

[njswt-bjt] nfr jb [Ra] anx Dt

jmAxw xr 

Hzj xr [njswt-bjt] nfr jb Ra anx Dt Hzj xr sA



 sA-Ra PsmTk anx Dt 

(j)r(j)-pa(t) HA(tj)-a xtmt(j)-bjt(j)  smr 
wa(tj) n(j)  mr(wt)   Ns-@r sA Jwfr(r)  
D(d) =f j wabw nb(w) rx(w)-jxt  nb(w) 
swA.(tj) =sn  Hr=j swDA=Tn [Haw=j ? ]  
mj  swDA=j Haw  nb(w)  D(d) =Tn  Htp-dj-njswt  

Ra WAH-jb-Ra jmAxw xr njswt-bjt @aa-jb-
Ra

xtmt(j)-bjt(j)
xtm(w)t(j) bjt(j)

xtmt(j)-bjt(j)

Nj nj
Mr mr

r

 
Jw=f r jrt

Dd d
rx xt

rx jxt

tj 
swA(.tj)=sn Hr twt pn

aq(.tj)=sn r wn-Hr



m-xt jb TAw n rA Ax(w) n saH  n(n) nw m wrD 
Xr=s  Dr-ntt n(n) swgg   r(A)=Tn  n(n) 
prj (j)sk  xnt jxt=Tn  jmA-jb  jmA n=f  
nT(r) =f  srwD mnw gmj=f n m-xt  rn=f mn 
m-a  anxw  w(nn) jr r jr(w) n=f  mnw pw 
jrj(t) bw-nfr  

swA.tj=sn (qr sS.tj=sn)

Dd d

saH

swgg swg(A) c-
wgg

swg
Dr ntt nn zg[nn] rA=Tn

PA-dj-
Jmn-m-jpt @A-r-wA

Ax-Jmn-rw

xnt jxt=Tn m jxt=Tn
js jsk

k-xt xnt jxt kt-xt
kt-Xt

k jxt
jxt 

k xnt  xnt jxt n pr js m jxt=Tn

n pr <js> m 
jx{r}.t=Tn

n pr <js> m Xr.t=Tn
MnTw-

m-HAt n pr m Xr.t=Tn
n pr js xntj jx.t=Tn PA-dj-Jmn-m-jpt



(j)r(j)-pa(t), HA(tj)-a

wab

@tp-dj-njswt 

 jmA-jb

sxpr.n jmA=f HDd.wt 

jAm/jmA jmAt
jmA

jmA-jb nb-jmAt
nb jmAt

jAmt jmAw
 nb jAm<.t>

PA-dj-jmn-m-jpt
jmA/jAm

jmAj-jb

jnk jmA-jb 
nfr-qjH n s nb

jmA-jb mAa n nb=f
jmA-jb. JmA-jb

jAm-jb
nTr nt 

nT nTr nT Nt nTr

PA-dj-Jmn-m-jpt
jmA-jb jmA 

n=f nTr



mA n m-xt

srwd wsT sxpr 
n wn.t jn HA Hr gm.tn=f zbjj n sk rn=f Hr jx.t=f 

xnt m
jAm-jb



[  (j)r(j)-p]a(t) HA(tj)-a xtmt(j)-bjt(j) wr m 
NTrt  (j)m(j)-[r(A) aAwj xAsw(t)] WAD-Wr  Ns-
@r sA Jw[frr]   [Dd=f(?)] Wsjr dj=tn n(=j) 
m wr n Wsjr  sSm=Tn n(=j) m Aw(t) n nTrw n 
@wt-bjt st mrj jb=f jnk saH  n [jr(w) n=f ] 

 
(j)r(j)-p]a(t), HA(tj)-a

WAD-Wr

@wt-Bjt

  

 
TAw n rA Ax(w) ... ... ... mnw pw jrjt bw-nfr 

wr n 
NTr wr m NTr

wr m 
NTr.w

mr [aAw xAcwt?] wAD wr 

J[wfr]
J[wfrr]

wr m NTrt
@wt-Bjt

 



aq=sn Hr  xsf n nTr [  ] ntn  mj n 
jmj(w)-xt n-zp js n w(n=j)  [ ]  wsx kAj 
jm=s r a(A) n(n) snj(t) zp n=tn jrj=f Haj rmTw 
nw njwt=Tn [...]  mwt=f m-a=k ...  ...  
njwt m nTr tpj [ .]  m Sdj Abd nn sA =tn 
rdwj[=tn(?)]  qbHw  Aw [ ] 

aq.kwj Hr nTr m Hwn jqr .

Ntn ntTn

qbHw



 [  ] n(?) wr $nmw(?) pw ntf pw Ra bA wr 
Hr(j)-jb QbHw hnw  anx wAs sA=k @aa-jb-Ra [  

 ] 

bA



[ ]   ...   [   ] w  nb=f  [xn]t 
mjtt=f rdj .n s(w) Hm=f  r jAwt aAt wrt jAwt 
nt sA =f  wr  (j)m(j)-r(A) aA xAsw(t) 
rsjw(t)  r  xsf xAswt bdSw Hr=f rdj.n=f 
snDt=f m xAswt rsjw(t) rw  j =sn Hr 
jn(w)t=sn n snDt=f tm r..n(?)  [     ]  
(Hr) HHj(t) Axw(t)  n nb=f  jmAxw xr njswt- 
bjt @aa-jb-Ra Hzj xr sA Ra  WAH-jb-Ra  Ns-@r 
rn=f nfr PsmTk-mnx-jb sA Jwfrr  jrj.n nb(t)-pr 
&A-snt-n-@r mAa(t)-xrw  Dd=f  j  nb  Sfjt  qd 

 

w
w

w m
nb =f
rdj rdjt t

Hm =f
sA-njswt

=f sA
sA njswt n kAS

rsjw(t)
r

rwj
m rn 

Jxw(t)  Axw(t)

HHj.n=j Axt n nb=j 
sA Ra 

Hzj

jw.f-rr Rr rr pXr

dwA nb Sfj.t 
j

Sfjjt aA Sfjt
aA Sfjt

wr Sfjt



nTrw rmT $nmw-Ra nb QbHw %Tjt   anqt 
nb(tj) Abw Haj .n=j Hr rn(w)=tn dwA=j 
nfrw=tn  Sw.n(=j) m bAgj  Hr jrj(t) mrj(t) 
kA(w)=tn mH.n(=j) jb=j m kA(w)=t[n m s]xrw 
nb(w) jrj.n(=j) sxA kA=j Hr jrj.n(=j) m pr=tn 
sHD.n(=j) rA-prw=tn m dbHw nw HD kAw srwt 
Apdw aSAwt smn.n=j aqw=sn m AH(wt) Hna ) 
mnjww=sn r nHH Hna Dt qd.n(=j) sS(w)=sn m 
njwt=tn rdj.n(=j)  jrp nfr nfr n WHAt rsj(t) 
btj[..] bjt r Sna(w)=tn qd.n(=j)  m-mAwt Hr rn 
wr n Hm=f rdj.n.(=j) sgnn n dgm  r sHD 
xbs(w) n rA-prw njwt=tn rdj.n(=j) sxtjw bAkwt 
rxtjw [Hr?] mnx(w)t Sps(wt) n nTr aA  Hna 
psDt=f qd.n(=j) nAj(w)t =sn m Hwt-nTr=f 
swAH=sn r nHH m  wDt n nTr nfr nb-tAwj @aa-jb- 
[Ra] anx Dt sxA=tn rdj nfrw n  pr=tn m jb=f 
Ns-@r Dd m rA n njwtjw  jsw nn rdjt wAH rn=j 
m pr=tn sxA kA=j m-xt aHaw rdj wAH znn=j rn=j 
Dd Hr=f n(n) skj(t) m Hwt-nTr=tn  mj Sdj=tn  
 

nb Sfjt

%Tjt  %Tt

Haj Haa

dwA=j sDm=f
Sw m bAgj

Sw.n(=j) m bAgj

j jrp sDm.n=f

=j
dgm

nAjt

mA nAjt
nA

m n



wj m st-qsnt m-a pDt(jw) aAmw  @Aw-
Nbw(tjw)%Ttjw kAw(-sbjt) rdj(t) [  ..] [sxrw] m 
jb(w)=sn r djt Sm r ^Ajs-@rt m jb=sn snD(t)  
n Hm=f Hr zp Xzj jrj=sn smn .n=j jb(w)=sn m 
sxrw(=j)  n rdj(=j) SAs=sn r &A-stj rdj=j 
spr=sn r bw ntj Hm=f jm jrjt.n Hm=f 
[xAjt(?)]=sn (j)m(j)-r(A) aA xAsw(t) rsjw(t) Ns-
@r Dd=f j Hm-nTr(w) [jt-]nTr(w) [nbw n Hwt]-
nTr tn nt $nmw-Ra nb QbHw %Tjt anqt nbt[j=t]n] 
s[mx=Tn mwt sxA=tn anx] Hzj tn nTrw=tn rwD 
Haw=tn Xr Htp(w[?])-nTr [swD=tn?] jAwt=tn xr 
msw=tn mj Dd=tn Htp-dj-njswt $nmw %Tjt anqt 
psDt aAt jmjw Abw (m) xA m t Hnqt [  ]  
 

jmAxw

 

aAm

aAm



 

kAs
kA(s)

kA

kA

 

rn wr

znn



Hm-nTr [jt]-nTr

Htp-dj-njswt

 nTr-njwtj  n (j)r(j)-pa(t) HA(tj)-a xtmt(j)-bjt(j) 
smr wat(j) n(j) mrwt wr m jAwt=f aA m saHw=f 
sr m HAt rxjt (j)m(j)-r(A) aA xAswt rsjw(t) Ns[-@r 
sA] Jw=f rr dj.tw  HA=f xft kA=f m-bAH=f n(n) 
DAj=tw rdwj=f(j) n(n) xsf=tw awj=f(j)  Jwnwj 
pw  

dj tw



(j)r(j)-pa(t), HA(tj)-a

rxjt

kA

 n kA Ns-@r Sms=k nTr=k m Xrt-hrw mA=k Ra m 
s(twt[?]) =f Hzw =k mn ra-nb mAa jwtj?  [  

  ] n(?) jt(?)  n(?) sA=f (j)m(j)- r(A) aA 
xAsw(t)     rsjw(t)     Ns  -  @r     jr=tn     nf(r)=tn 

NTr njwtj nTr njwtj=f  nTr njwt=f

n(n) xsf jb=f

nTr njwtj dj.tw HA=f  xft kA=f m bAH=f  n(n) DAt rdwj=f(j) n(n) xsf jb=f   
Jwnj pw  mAa-xrw nb-jmAx

kA

sSmw

Atj/jAdt/At/jwtj/jtj/jwtw at At

jt jt=f



n jsw gm=tn nDm  TAw n rA Ax(w) n Ddw 
n=f sw n(n) mn  rA=tn m Dd Hzwt(=j) xr 
$nmw-Ra nb QbHw %Tjt anqt Ns-@r Ddw m 
pr $nmw  

 
kA

[ ] ..  n ra-nb m Abd nb m smdt nb m Hb nb 
xpr m pr pn n kA n jmAxw xr $nmw-Ra  nb 
QbHw jm(j)-jb m stp-sA  Hr(j)-tp sHw(-nTr) [  

 ] 
 

n(t)Tn jsw gm=tn nDm
mn mn.t

jmAxw

%tp-sA

stp-sA



kA
jmAxw

 

[... ] Ns-@r sA Jw=f [rr  ]  



[ ] (j)m(j)-r(A) a(A) xAswt rsjw(t) Ns-@r rn=f 
nfr PsmTk-mnx-jb 

(j)r(j)-pa(t) HA(tj)-a (j)m(j)-r(A) a(A) xAswt 
rsjw(t) Ns-[@r] 

(j)r(j)-pa(t), HA(tj)-a

(j)r(j)-pa(t) HA(tj)-a (j)m(j)-r(A) mnfjt Ns-@r 

(j)r(j)-pa(t), HA(tj)-a
mnfjt

[ ]f jm=s  

 s(x)nt.n Hnwt=f st-rd=f  jmAxw 

jnk rx st-rd=f 



xr  njswt-bjt @aa-jb-Ra [Hzj xr]  sA Ra WAH-
jb-Ra ( )   [Ns-@r] (dwA)=j nfrw=tn Sw.n[=j] 
m bAgj  Hr (jrt) mrj(t) kA(w)=tn mH.n=j jb=j 
m kA(w)=tn djt] aqw n mnjww Apdw 
wnmt  srwt sTAt 120 wnmt xpn(w) […  
[rdj=tn wAH zn]n=j rn=j Dd Hr=f n(n) skj(t) m 
Hwt-nTr=tn mj(?)  ) [rwD] Haw=tn Xr 
Htp(w)-nTr swD=tn jAwt=tn  xr ms[w=tn] (  
[ ] n(n) mn rA=tn m Dd Hzwt(=j) xr Wsjr 
[#ntj]-Jmntt [ ]
 

jmAxw

kAs kAs

 
jmAxw xr

xr

[jmAx xr]
Hzj xr jmAxw xr

Sw.n[=j] m bAgj

j)r(j)-pa(t) HA(tj)-a]   
Sw m bAgj

^w m bAgj

*A-bA-nb-Ddt-n-jmw Sw 
m bAgj

mr mj?

tn



Htp-dj-njswt Wsjr #nt(j) [-Jmntt      
   A]bDw  dj=sn Ssp [s]nw m [prjt] m-bAH  

xntj] jmntjw

wab

t



Hr xAt [    ] (n) k(A?) (n) [   wr] m 
jAwt=f  [a]A [m saH(w) =f]  sr m-HA(t)  
rxjt  [   ] w rx [ ] jqr Ddwt  (j)m(j)- 
r(A) aA xAsw(t) rsjw(t) Ns-@r rn=f nfr Psm(T)k-
[mn]x-jb sA [Jw]f[rr] jr(j).n nb(t)-pr &A-snt-n-
@r  Dd=f wabw nb(w) aq Hr t? (nTrw) jmj(w) 
AbDw D(d) =tn Htp-dj-njswt n kA=j dwn =tn 
n(=j) a m-xt wDb xt jnk saH n jrj n=f wr anD 
mjtt(=f) aqA-jb nDr-drf(w)  Sm Hr mw tm SAS  
Hsbw jrj.n=j aHaw=j nn wn  nb m(=j) sxA 
kA=j  TAw    n  r(A)=tn  [Axw    n?...]  jr(w) 

saH saHw

@At wsr

sr wr m 
jAwt=f aA m saHw=f sr m-HAt rxjt 

njwt
w r njw.t 

W-[Pq]r

jqr Dd
Dd d

jrj mrj jmn nb pt sxA kA n HA-r-wA mAa 
xrw sxA kA=j sxA.t(j)=f(j) n m-xt sar Aq

sxA rn=j nfr



n=Tn  mjtt jn  nTr pn Sps  wab=tn n=f Wsjr 
#nt(j)-Jmntt nTr aA nb AbDw Wn-Nfr njswt nTrw 

 
Htp-dj-njswt 

snw

k(A)

rxjt

wab

Htp-dj-njswt 
kA

kA

tw TAw

Tn Tw
jn

nTrw jrj n jrj bw-
nfr  
mj.t.t nTrw.w jrj n jrj bw-nfr 

 





) (j)rj-pa(t) HA(tj)-a xtmt(j)-bjt(j) smr wat(j) mw  
mSa hrw aHA aA jb hrw dmDyt  sHtp jbw wn qnd nb 
Hzwt Hr jpt nb(t)  (j)m(j)-r(A)  mnfjt  n? [ ] 
n nb=j  njswt-bjt @aa-jb-ra sA Ra WAH-jb-ra anx Dt 
dwA.n=j nTr sDm=j n xpr.t=sn arq.n(=j) gAjwt n(w)t  

jmj-rA
jmj-rA

jm.j-r  mSa (m) Hrw aHA
mw mSa hrw aHA

mw j)m(j)-r(A) mw mSa hrw aHA

mw

 dwA hrw dwA

(j)m(j)-r(A
mnfjt mnfAt

j)m(j)-r(A) mnfAt
j)m(j)-r(A) mnfjt 

jmy-r mnfAt

=j



bAw wrw n-zp [ mj]tt [xr Hm n(?)]   Hr WAH-jb 
wnn  Hzw(t)=j xr nb tAwj m jsw n nn jrj.n(=j) 
Hnk.n Hm=f jxwt sxpr.n(=j) m awj[=j] Ds(=j) bt 
what? [ ]  nfr(?) n?. .. .. . nb? r? n wa? nb? 
h?[ ]   Hr wD n jnr n bxn smn.tw=f m Hwt-nTr 
[ ]  m Smsw @r-pA-Xrd nTr aA Hrj-jb Dd(t) [ ] 

j)r(j)-pa(t), HA(tj)-a

mnfjt [ ]

bAs

[ ] njswt? [ ]  Ns-@r Dd=f s nb jr.t(j)=f(j) pna m 
pr Wsjr-@apj m nn ntt m sSw HDj.tj=fj tjt(w)=f 
xntjw=f      dj.n=f      st      n       kjj      xtj=f     [st(?)] 

 n xr Hm

wn.n Hz.wt=j



 ntt prj(t)  m pA Htp(w)-nTr nfr n BA-nb-Ddt n  
[ ] 

BA-nb-Ddt [ ].



KA

Ny-sw @r
PsmT mnx-jb

Ns-Hr

Ns-@r

Ns-@r

 Ns-@r

Ns-@r

Ns-@r

Nc- Hr(.w) 

NAkw PsmTk WAH-jb-Ra

n



Ns-@r

Jw=f rr J[wfr]
J[wfrr] Jw=f jr-j  

Jw=f r jrt
Jw=f rr

Jw=f r [r]

Jw=f rr

=f 

&A-snt-n-@r nb(t)-pr
mAa(t)-xrw

&A-snt-n-@r

&A-snt-n-@r

  

PA - sn - Hr
H



jmj-rA aA xAsw(t) rsjw(t)

jmj-rA aAw
 jmj-rA aAw xAswt 

rsjw
 jmj-rA aA rsj  jmj-rA aA 

xAswt rsj jmj-rA aAw xAswt
xrp xAswt rsjwt

aHA Hrj tp n nb=f m xAswt nbwt
jmj-rA aAw xAswt

jmj-rA aAw rsj 



j)m(j)-r(A) mnfjt mnfjt

j)m(j)-r(A) mnfjt mnfAt

jmy-r mnfAt

mnfjt

mnfjt

j)m(j)-r(A) mnfjt

mnfAt

 (j)m(j)-r(A) aA xAsw(t) rsjw(t),

mr mnfA.t

j)m(j)-r(A) mnfjt 

mnfAt

mnfAt

mnf(j)t
mr mnfyt

jmj-rA mnfAt



(j)r(j)-pa(t) j)r(j)-pa(t) 

rap.t
jrj-pat

jrj-pajt

HAt(j)-a, HAt(j)-a

HAtyw-a



smr wat(j)

cmr watj 
n(j) mrwt 

cmr waty cmr
cmr wa.tj

smr

smr wat(j), n(j) mrwt

cmr 
waty n(y) mrwt

smHr smr

n(j) mrwt nj mrwt

bDtj-a pr-aA n(j) mrwt  smr watj n mrwt
xrp aH n(j) mrwt  smr watj xrp aH n(j) mrwt

nj mrwt
cmr (nj) mrwt

smr wa(tj) n(j) mr(wt) n njswt

nj n(j)



smr wAty n(y) mrwt

wr m jAwt=f

wr m jAwt=f aA 
m saHw=f sr m-HAt rxjt wr m jAwt=f

wr m jAt=f
wr m jAt

wr m jAt=f m-bAH njswt wr m jAt=f m 
pr-njswt

aA m saHw=f

aA m saH=f

aA m saH=f

sr m-HAt rxjt rxjt 

sr 
sr aA m pr 

njswt sr m jnb-HD sr m jAt=f
sr m-HAt rxjt

sr m-HAt njswt sr m-HAt smrw sr m-HAt Spsw njswt sr m-HAt Spss njswt

wr m jAwt=f



wr m NTrt

wr m NTr.t

HAtj-a 
wr m NTrt m P _p HAtj-a

HAtj-a wr m NTrt

jrj-pat  HAtj-a wr m NTrt
HAtj-a HAtj-a wr m NTrw  

(j)m(j)-r(A) mr

j)m(j)-
r(A) mr

wr

NTrt NTrw NTr NTrj



NTrw HAtj-a 
wr m WAst

(HAtj-a  wr) m WAst,  HAtj-a  (wr m WAst)
wr HAtj-a

HAtj-a
m n

wr
HAtj-a wr m HAtj-a wr n

wr m/n HAtj-a
NTrt HAtj-a n mr-NTrt

wr m NTrt
HA(tj)-

a xtmt(j)-bjt(j)
NTrt

rx

rx njswt
rx njswt mAa

rx Hntj

HAtj-a wr  HAtj-a jmj-jxt

HAtj-a wr n/m

wr m nTrt  
HAtj-a 

@ntj
rx Hn.tj 



rx Hntj rx jrt=f

rx

sHtp jbw wn qnd

jmAxw xr njswt-bjt Haa-jb-ra jmAxw

jmAxw

jmAxw xr jmAxw
jmAxw xr jmAxwt 

xr jmAxj xr
xr

JmAxw

jmAxw xr njswt

rx Hn.tj

jmAxw-xr-njswt
JmAxw xr n



jmAxw
jmAxw

jmAxw

jmAxw xr

jmAxw aA m pr njswt jmAxw

JmAxw



 
TAw  n r(A) Ax(w)  n saH

TAw n rA=tn (Axw)

n(n) nw m wrD Xr=s

n wrD=tw Xr=s

tw TAw



n(n) prj (j)sk xnt jxt=Tn

n wrd rA=tn m Dd

jsk js
=s nn prj

xnt m

n pr m DAfw=Tn

n nn



srwD mnw gmj=f n m-xt rn=f mn m-a anxw

n(n) mn  rA=tn m Dd Hzwt(=j) xr Xnmw-ra

n(n) mn rA=tn m Dd Hzwt(=j) xr
n(n) mn rA=tn 

m Dd Hzwt(=j) xr

mnfjt mSa

 jqr-Ddwt  sHtp-jbw

srwd wsT sxpr n wn.t jn HA Hr gm.tn=f 
zbjj n sk rn=f Hr jx.t=f

mn mn.t
Xnmw $nmw-Ra

([xntj] jmntjw […]).#ntj Jmntt. 



wn qnd 







jmAxw xr  njswt-bjt @aa-jb-Ra mrj bAw Jwnw 
 (j)m(j)-r(A) prwj-HD wr zwnw(w)   aA n xA 

(j)m(j)-r(A) pr-wr P(Aj=)f-TAw-(m)-a(wj)-Njtt   

jmAxw
bAw

xA

jmAxw xr sA Ra WAH-jb-Ra dj anx mj ra Dt  
(j)m(j)-r(A) prwj-HD wr zwnw(w)   aA n xA (j)m(j)-
r(A) pr-wr P(Aj=)f-TAw-(m)-a(wj)-Njtt  



jmAxw

xA

[ ] [s]Tnj =f(?) m jAwt r jAwt mH-jb n @r m 
sxrw=f hr-jb wdj rA zp xpr jr(r) mr(rt) nb=f 

jr(r) mr(rt) nTrw  [ ] n? s? x (?) m pr(?)=sn 
sar jxwt=sn r  Xnw  aH aA  n  xA wr  zwnw(w)  n 

%Tnj
 stn

%Tnj
[sT] n <wj> Hm=f m jAw.t r jAw.t 

=f 
sxrw=f

r(dj).n wj Hm=f m jAwt r jAwt

.  
rdj.n wj
!rj jb Jb

hrj jb
hr-jb

jb
hr

hr 

Hrj-jb wdj rA sp xpr(.w) 

jr mrrt nb=f)
jr mr 

nb=f
%ar sjar 

 



^maw MHw (j)m(j)-r(A) prwj-HD (j)m(j)-r(A) prwj-
nbw (j)m(j)-r(A) pr-wr  [ ] Hm-]nTr Jmn 
WAst-MHw  Hm-nTr @r P %A-%bk msj.n jHjt n(t) 
Njtt nb(t) %Aw Na-ns-BAstt  

xA

(Hm-)nTr
Hm-nTr-

WAst-mHw
t

jHjt
Smajt Smajt

jHj.t jhjt

jw jr(j).n=j nb mrr nTr 

Pr-Jmn 



(j)m(j)-r(A) pr wr P(Aj=)f-TAw-(m)-a(wj)-Njtt 
 

Dd=f

Jnk  mrj n nb=f Hr nDr(j) (=j)  drfw  m sprw 
n Hr-nb  jnk jrr Axw[t] n [  ] 

+d=f 

jnk

nDr

 sbA njswt nDr sbAyt=f
nDr Hr sbAjt n nTr nfr

Hr nDr sbAjt=f

=j 
nDr drf

nDr drfw

drf

Hr rmT nb Hr-nb

 Hr



jrj bw-nfr  n Hwt-nTr tn

Dd=tn   
 

Htp-dj-njswt xA m t  Hnqt pAwt xt nb(t) nfrt

Htp-dj-njswt

Axt
Axwt

 nDrj  nDrw
 d D

nDr
 f 

drf

Axwt Axwt

Axw(t) n bw-nfr 

t

t
PAwt pAt



n kA n (j)m(j)-r(A) pr wr P(Aj=)f-TAw-(m)-a(wj)-Njtt  
 

kA

nTr dj r wSb jrjt  tm sDr sT  <r> wp.n=f  
jx[(w)t]  r  
 

[jxt m nfrt m] bjn

%T jsT
 xr 

nn sDr.n=f r nn wp.n=f jxwt r jxwt m nfr m bjn 

n=f ...

n=f xt r

tm sDm tm wn

bjn
bjn

bjn
bjn(w)



(j)m(j)-r(A) pr wr P(Aj=)f-TAw-(m)-a(wj)-Njtt    
 

Dd=f 

jr wab nb aq r Hwt-nTr nt (J)tm(w)  nb Jwnw 
mkj.t(j) = fj znn pn  dj = f n = f jxt nb(t) nfrt  
 

wab

m-xt Htp nTr jm Dd=f  
 

sar sxr(w) njwt tn r-Xnw aH

znn pn
 znn pn

mkj



Htp-dj-njswt xA t Hnqt pAwt xt nb(t) nfrt  
 

Htp-dj-njswt

n kA n (j)m(j)-r(A) pr wr P(Aj=)f-TAw-(m)-a(wj)-
Njtt  
 

kA

jw=f r jAw m njwt=f  m jmAxw  n spAt=f     
 

jmAxw

jnk saH  
 

n jrj n=f  sar  sxr(w)  njwt tn r-Xnw aH 

jmAxw

 sar (  sja, sjar) saH
sar

sar.n=j mAat
sxrw sxrt



[ ]  @r nb aH sTnj=f m jAwt r jAwt mH-jb n @r 
m sxr(w)=f hr-jb w(?) [@r(?)] […s(?) x(?) m 
pr=s]n sar   jxwt=sn   r-Xnw   aH   aA n   xA   wr-
zwnw(w)   ^maw- 



MHw (j)m(j)-r(A) pr HD (j)m(j)-r(A) pr nbw (j)m(j)-
r(A) pr wr PA(j)=f-[TAw-(m)-a(wj)-Njtt…]  

[ ]

xA



(j)r(j)-pa(t) xtmt(j)-bjt(j) HA(tj)-a [ ] mH-jb n njswt 
(m) s(w)t<=f> nb(wt) 

j)r(j)-pa(t)
HA(tj)-a [ ].

(j)m(j)-r(A) pr wr 

[wr] zw(nww) n ^maw MHw (j)m(j)-r(A) prwj-HD
j)m(j)-r(A) prwj-nbw 

. 



xrp

 (j)r(j) pa(t) HA(tj) -a smr-wat(j) xrp - aH wr- 
zwnw(w) (j)m(j)-r(A) prwj-HD nbw aA n xA jmAxw aA 

xrp cxm
xrp-aH 



m pr-njswt (j)m(j)-r(A) pr wr P(Aj=)f-TAw-(m)-a(wj)-
Njtt jrj.n xrp-Hwwt aD-mr dp Hm-nTr @r P %A-%bk 
Dd(=f) (j) wab nb jrj.t(j)=f(j) jxt-nTr Hzj Tn #ntj-
Jmntt r Sdj(t).Tn n(=j) prt-xrw m sn-tA n #ntj-Jmntt 
mj mAA=Tn Ax(=j) xr nTr(=j) Tnn(=j) xr Hm  n 
nb(=j) r saH=f nb jnk smr n jrj n=f Hmww jqr smnx 
pr=f jw sar.n(=j) mdt AbDw r-Xnw aH r sDm511 Hm=f 
wD.n Hm=f jrj(t) kAt m AbDw n-mr(wt) grg AbDw 
jrj.n(=j) wrt m smnx AbDw rdj.n(=j) jxt-nb(t) nt 
AbDw r st jrj sDr(=j) tp=j rs(w) Hr HHj(t) nfr AbDw 
Xr=s wn(=j)  Hr dbHt Hzwt xr nb(=j) ra-nb n-
mr(wt) grg AbDw xwsj.n(=j) Hwt-nTr nt #ntj-Jmntt 
m kAt mnxt nt nHH m wD.n=j xr Hm=f mAn=f  
rwD(=j) m jxt &A-wr pXr.n(=j) sw m jnbw n 
DbA(w)t  arq-HH m mAT wa HD Spsj m Dam Xkrw nTrj 
stp sA(w) dbHw nb(w) nw jxt-nTr m  nbw HD aAt 
nb(t) jw xwsj.n(=j) Wpg sS.n(=j) axw=f Sdj.n(=j) 
mr=f wdj m mnw sDfA.n(=j) Hwt-nTr n #ntj-Jmntt 
saA(j)(=j) aqw=f smn(w) m jmnjt  nt ra-nb grg(=j) 
Snaw=f m Hmw Hmwt rdj.n(=j) n=f wDb  n AH(w)t 
sTAt xA m sxt &A-wr grg(w) m rmT awt nb(t) jr(j) rn=f 
m Wsjr-Grgt  
 

(j)r(j)-pa(t), HA(tj)-a

xA jmAxw

sDm Hm=f
MAn mAA
+bt 

twwbe twbe twwbi twbi

DbA(w)t
jmnjt 

xrp-Hwwt-(Njtt)



Hm-nTr
wab

arq-HH

jr-jxt

Wsjr #ntj-JmntT nTr aA nb-AbDw  Htp-dj-njswt Wsjr nb Ddw 
nTr aA nb AbDw
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Wpg

 n-mr(wt) jr Htp-nTr(w) jm=f m Aw(t) Dt 
wHm.n(=j) n=f Htp-nTr(w) t Hnqt kAw Apdw m-HAw 
wn jm m-bAH jrj.n(=j) n=f at nt-xt srd  m xt bnr 
nb kAr(j)w jm=s n xAs(w)t jn(j) m sqr-anxw 
dj(w) jrp hnw 30 jm(=s) ra-nb Hr wdHw n #ntj-
Jmntt fAj(w) Htp(w) jm(=s) m Awt Dt smAwj.n(=j) 
pr-anx m-xt wAsj smn.n(.j) snmw  jxt nt Wsjr 
dj.n(=j) nt-a=f nb r st jrj mDH.n(=j) wjA-nTr m aS 
gm.n(=j) jr(w) m SnDt dr.n(=j) tp(j)-xbs(w)  m 
&A-wr xwj.n(=j)  &A-wr n  nb=s mkj.n(=j) n  
rmT=s nb rdj(=j) jSt prjt m xAst &A-wr r Hwt-nTr 
gmj.n(=j) m-a HA(tj)-a n-mr(wt) qrs  AbDwjw 
rdj.n(=j) mXnt  nt &A-wr r Hwt-nTr dr.n(=j) m-a 
HA(tj)-a mrj  Wsjr  grg njwt=f  Hzj.n    w(j)  Hm=f  

sDm=f

at-nt-xt

tp-Hbs
xwj-mkj

n
n

xwj.n(=j) &A-wr n nb=s

mXnt



Hr jrj.n(=j) dj=f anx n sA=f JaH-msj-sA-Njtt dj=f 
Hzzt xr Hm=f jmAxw xr  nTr-aA wab(w) dwA-nTr 
n(=j) prj nb Hzt(j) m Hwt-nTr Dd=Tn jw  
(j)[m](j)-r(A) pr-wr P(Aj=)f-TAw-(m)-a(wj)-Njtt msj 
n N(a)-ns-BAstt  m dpt-nTr Ssp=f t n nHH  m 
HAt saHw 

HA(tj)-a

HA(tj)-a

wab





pA.f-TAw(m-) a.wj-n-(?)njt
PA(j)=f-TAw-

(m)a(wj)-Njtt
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 %A-%bk  Na-ns-BAstt

 xrp Hwwt
 aD mr dp aD mr
 Hm-nTr @r P Hm-nTr-
 Hm-nTr Jmn-WAst-MHw Hm-nTr

%A-%bk



 jHjt n(t) Njtt nbt %Aw

Hm-nTrt



nt-jHjt jtt



jr swt rmT nbt sS nb rx-xt nb nDs nb twA nb aq.t(j)=sn r js pn 
mAA.t(j)=sn ntt jm=f mkj.t(j)=sn sS(w)=f twr.t(j)=sn n Xntjw=f 
Dd.t(j)=sn Htp-dj-njswt xA m t Hnqt kA(w) Apd(w) xA m Ss mnxt xA m 
Htpwt xA m DfAw xA m xt nb(t) nfr(t) wab(t) n kA n nb js pn HAtj-a DfAj-
@apj jw=f r jAw n njwt=f jmAxw n spAt=f Hr-ntt jnk saH mnx

 

Htp-dj-njswt

kA
HAtj-a

jmAxw

jw swt rmTw nb(w) sS nb rx nb nDs nb twA nb aq.[t(j)?]=sn r js pn 
mA.t(j)=sn ntt jm=f mkj.t(j)=sn sS(w)=f twr.t(j)=sn n Xntjw=f 
Dd.t(j)=sn Htp-dj-njswt xA m t Hnqt kA(w) Apd(w) xA m Htpt-DfAw xA 
m xt nb(t) nfrt wabt n kA n nb js pn jt-nTr  pw-jm-ra pn mAa-xrw 
jw=f jA[w] n njwt=f jmAxw n spAt=f Hr-ntt jnk saH jqr 

 

Htp-dj-njswt

=f  jt



jmAxw

jr wab nb aq r Hwt-nTr nt (j)tm(w) nb jwnw mkj.t(j)=f(j) znn pn dj=f 
n=f xt nb nfrt m-xt Htp nTr jm Dd=f Htp-dj-njswt xA t Hnqt pAt xt nb 
nfrt n kA n (j)m(j)-rA pr-wr P(Aj)=f-TAw-(m)-a(wj)-Njtt jw=f r jAw m 
njwt=f m jmAxw n spAt=f  jnk saH n jr n=f  

wab

Htp-
dj-njswt
kA

jmAxw

 jr swt rmTt nbt jr wab nb  aq r Hwt-nTr nt (j)tm(w) 
 sS nb nb jwnw  
 rx-xt nb mkj.t(y)=f snn pn 
 nDs nb dj=f n=f xt nb(t) nfrt 
 twA nb m-xt Htp nTr jm 
 aq.t(y)=sn  Dd=f 

Hr-ntt



 r js pn Htp-dj-njswt 
 mAA.t(y)=sn ntt jm=f xA m t Hnqt pAt 
 mkj.t(y)=sn sS(w)=f  xt nb(t) nfrt 
 twr.t(y)=sn Xntyw=f  n kA n  
 Dd.t(y)=sn (j)m(y)-rA pr-wr  
 Htp-dj-njswt p(Ay)=f-TAw-(m)-a(wy)-nt 
 xA m t Hnqt kA(w) Apd(w) jw=f r jAw m njwt=f m jmAxw n spAt=f 
 xA m Ss mnxt jnk saH… 
 xA m Htpwt 
 xA m DfAw 

 xA m xt nb(t) nfr(t) wab(t) 
 n kA n nb n js pn 
 n HAtj-a DfAj-@apy 
 iw=f r jAw n njwt=f jmAxw n spAt=f 
 Hr-ntt  
 jnk saH mnx nb qd snxn HHw 

 m tp t(A) r(-Dr)=f 



j anxw tpjw-tA (j)m(j)-rA Hm-nTr nb  Hm-nTr nb Ssmt DAj nb n Hwt-
nTr nt Hm n nb(=j) #nt(j)-Jmnt(t) anx n=Tn njswt jw=Tn r Sdjt n(=j) 
prt-xrw m Dbw n Hwt-nTr tn m jrjt n(=j) n wD  m jrjt=Tn n(=j) 
Ds=Tn Dr mAA=Tn jAwt(=j) xr njswt n Sps(=j) xr Hm n nb(=j) r saH[=f 
nb]  [r sr=f nb r bAk=f nb] 

 

Ssmt DAj 

(j) wab nb jr.t(j)=f(j) jxt-nTr Hzj Tn #ntj-Jmntt r Sdj(t)=Tn n(=j)  
prt-xrw m sn-tA n #ntj-Jmntt mj mAA=Tn n Sps(=j) Ax(=j) xr nTr=Tn 
xr Hm n nb(=j) r saH=f nb 
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(j)m(j)-rA Hm-nTr nb #nt(j)-Jmnt(t)

m jrjt n(=j) m jrjt=Tn n(=j) Ds=Tn
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wab
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znn
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znn
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znnw znn.w
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znnw=j anxw psSw=j m rmTw jrj n=j qA mdt ntj n sDm.tw=f
 

“[Xr=j] HAb [nb] Hm kA nb zXA.w nb mAA.tj=sn twt.w pn znn=j 
jwa.w=j tp=j tA sXA=j m Xr.t-nTr Hzj Tn n.j-sw.t n rk=Tn Hwn fnD=Tn 
m anx Dd=Tn Htp-dj-n.j-sw.t….n kA n zXA.w DHwtj” 
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s z znn c
s z znn

znn
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jr.t(w) n=f 
twt r Ssp anx r Htp m Hwt=f  

twtw

znn



jw qd.n(=j) pr n jqd-
nDs n @r-Mrtj-m-r-MHt PA-drp-sw

jqd-nDs



jr(j).n=f m mnw=f n mwt=f  mwt np(A)t qd=f  n=s Hwt-nTr n-
mAw(t) m jnr an HD nfr (n) rwD js(t) gm.n Hm=f Hwt-nTr tn qd m jnr 
m-a (tpjw-)a m kAt nDs(t) wn.jn Hm=f (Hr) rdj(t) qd.tw Hwt-nTr tn m 
kAt mnx(t) n Dt 

 

qd

xwsj
xwsj.tw m jnr m mnw n Dt

Jr(j).n=f sDm.n=f jrj.n=f m mnw=f

sDm.n=f n jt=f

jrj.n=f m mnw=f 

qd=f n=f kt h(A)jt n prj(t) r-HA(t)  



jr(j).n=f m mnw=f n mwt=f mwt nb(t) pt Hnwt tA-stj qd=f pr=s saA=f 
Hwt-nTr=s m-mAw(t) m jnr HD nfr (n) rwD  

gm.n=f Hwt-nTr tn qd.tw m DbA(w)t …  
  

mk jb=j r qd Hwt-nTr n jt=j Jmn-Ra gm-pA-Jtn Hr-ntt wnn=s qd.tw m 
DbA(w)t (j)aa.tw m AHt  

wd mnw=s aSA m tA Sd Sw=s  
 



(j)sk Hm=f mrj nTr pw wrS=f m hrw sDr=f m grH Hr HHj Axt n nTrw 
Hr qd rA-pr(w=sn wA r) mrH Hr qd rA-pr(w=sn wA r) mrH Hr msj 
sSmw=sn mj sp tp(j) Hr qd Snaw=sn Hr sDfA xAwt=sn  Hr smAa 
n=sn Htpw-nTr m xt nb(t) Hr jrjt wdHw(w)=sn m Damw HD Hmt js(k) 
gr Htp jb n Hm=f m jrjt n=sn  Axt ra nb  

… nbw xAst=f … … … … … … … rd(j).n=f kArjw r=s m stpw nw 
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pr mrH
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xwj xwt

xwj-mkj

xwj-mkj kAt nbt

xwj-mkj

xwj-mkj
xwj-mkj

xwj-mkj

xwj mkj 
mkt

xwj mkj 

 xwj-mkj



jw g(rt) wD.n Hm(=j) xwt mkt tAS pn n jt(=j) PtH Rsy Jnb=f nb 
anx-(tAwj) m-a jrj(t) kAt nb(t) jr(rt) m Sw  
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mH-jb n njswt m s(w)t=f nb(w)t

aA n xA xA

aA  n  xA xA

jmAxw xr 

jmAxw-xr-njswt

jmAxw xr HwtHr jmAxw
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